

$$a_n = \frac{1}{r} \text{ و } 1, 2, 3, \dots$$

$$a_{10} = \frac{1}{r} \times r^9 = 25 \text{ (الف)}$$

$$\frac{a_{14}}{a_{13}} = r^1 = r^2 = 13 \text{ (ب)}$$

$$r^2 \text{ و } 13, 13, 13, 13, 13, 13, 13, 13, 13, 13 \text{ (ج)}$$

$$128 = \frac{1}{r} \times r^n \Rightarrow n=8 \text{ (د)}$$

$$a_1 = 93$$

$$a_5 = 12$$

$$\frac{a_1}{a_5} = r^4 = \frac{93}{12} = 1 \Rightarrow r=2$$

$$a_{10} = a_1 r^9 = 93 \times r^9 = 312$$

$$a_1 \times a_2 \times a_3 \times a_4 \times a_5 = 243$$

$$a_1 \times a_5 = a_2 \times a_4 = a_3 \times a_3$$

$$\Rightarrow a_2 \times a_2 \times a_3 \times a_3 \times a_3 = 243 \Rightarrow a_3 = 3 \text{ (الف)}$$

$$a_1 \times a_5 = a_3 \times a_3 = 3 \times 3 = 9 \text{ (ب)}$$

$$r^b, r^{\sqrt{r}}, r^a$$

$$(r^{\sqrt{r}})^r = r^{a+b} = r^2 \Rightarrow r^{a+b} = r^2 \Rightarrow a+b=2$$

$$\frac{a+b}{r} = 2/5$$

$$a_r = 1-n$$

$$a_r = n$$

$$a_{11} = n+1$$

$$\frac{a_r}{a_r} = \frac{a_{11}}{a_r} = r^1 \Rightarrow \frac{n}{1-n} = \frac{n+1}{n}$$

$$\Rightarrow n^2 = n+1-n^2 \Rightarrow 2n^2 = 1 \Rightarrow n^2 = \frac{1}{2}$$

$$\Rightarrow n = \pm \frac{1}{\sqrt{2}} \Rightarrow n = \pm \frac{1}{\sqrt{2}}$$

$$a_1 + a_2 = 21 \Rightarrow \frac{a_1 + a_1 q^2}{a_1 q + a_1 q^2} = \frac{21(1+q^2)}{q(1+q^2)} = 21$$

$$a_2 + a_3 = 12 \Rightarrow \frac{a_1 q + a_1 q^3}{a_1 q^2 + a_1 q^4} = \frac{12(q+q^3)}{q^2(1+q^2)} = 12$$

$$\Rightarrow q = 3 \text{ و } a_1 = 1 \quad \text{بزرگترین} = a_4 = 1 \times 27 = 27$$

$$a_1 + a_2 + a_3 = 13 \Rightarrow a_1 + a_1 q + a_1 q^2$$

$$a_1 \times a_2 \times a_3 = 27 = a_1^3 q^3$$

$$a_1 \times a_3 = a_2^2 \Rightarrow a_2 \times a_2 \times a_2 = 27 \Rightarrow a_2 = 3 \text{ و } a_1 = 1 \text{ و } a_3 = 9$$

$$a_n = 2, 9, 21, \dots \Rightarrow q = 3 \quad \left(\frac{q^n - 1}{q - 1} \right) a_1 = S_n = 21 \Rightarrow \left(\frac{3^n - 1}{3 - 1} \right) = 21$$

$$3^n - 1 = 42 \Rightarrow 3^n = 43$$

(الف)

$$D_n = (a_1 \times L)^{\frac{n}{r}} \Rightarrow D_{10} = (2 \times 3 \times 9 \times 21)^{\frac{10}{4}} = 21 \times 21 \times 21 \times 21$$

(ب)

$$a_n = a_1 q^{n-1} \Rightarrow a_{10} = 2 \times 3^9 = 2 \times 19683 = 39366$$

$$a_n = a, aq, aq^2, aq^3, \dots$$

$$a - aq = a(1-q)$$

$$aq - aq^2 = aq(1-q)$$

$$aq^2 - aq^3 = aq^2(1-q)$$

$$a_n = a(1-q) + aq(1-q) + aq^2(1-q) + \dots$$

$$q' = q$$

(الف - 10)

$$S_n = a_1 + a_2 + a_3 + \dots + a_n = a_1 + a_1 + d + a_1 + 2d + \dots + a_1 + (n-1)d$$

$$= na_1 + \left(\frac{n^2 - n}{2} \right) d \Rightarrow \frac{n}{2} (2a_1 + (n-1)d)$$

$$(S = a + aq + aq^2 + \dots + aq^{n-1}) \times q \Rightarrow Sq = aq + aq^2 + \dots + aq^n$$

(ب)

$$Sq - S = (aq + aq^2 + \dots + aq^{n-1} + aq^n) - (a + aq + aq^2 + \dots + aq^{n-1})$$

$$\Rightarrow Sq - S = aq^n - a \Rightarrow S(q-1) = a(q^n - 1) \Rightarrow S = a \frac{(q^n - 1)}{q - 1}$$

$q \neq 1$